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Name: __________________________________



1
The expression [image: image1.png]4x? - 25



 is equivalent to

	1)
	[image: image2.png](4x-5)x+5)





	2)
	[image: image3.png](4x+5)(x—5)





	3)
	[image: image4.png](2x+ 5)(2x - 5)





	4)
	[image: image5.png](2x—5)(2x—5)







2
The expression [image: image6.png]49x% — 36



 is equivalent to

	1)
	[image: image7.png](7x-6)°





	2)
	[image: image8.png](24.5x- 18)*





	3)
	[image: image9.png](Tx— 6)(7x + 6)





	4)
	[image: image10.png](24.5x - 18)(24.5x + 18)







3
The expression [image: image11.png]9m? - 100



 is equivalent to

	1)
	[image: image12.png](3 — 10)(3m + 10)





	2)
	[image: image13.png](3m — 10)(3m - 10)





	3)
	[image: image14.png](3 — S0)(3m + 50)





	4)
	[image: image15.png](3m — S0)(3m - 50)







4
The expression [image: image16.png]36x% - 9



 is equivalent to

	1)
	[image: image17.png](6x-3)°





	2)
	[image: image18.png](18x-4.5)





	3)
	[image: image19.png](6x + 3)(6x - 3)





	4)
	[image: image20.png](18x+4.5)(18x-4.5)







5
Which expression is equivalent to [image: image21.png]16x° - 36



?

	1)
	[image: image22.png]4(2x - D(2x-73)





	2)
	[image: image23.png]4(2x+ D(2x-3)





	3)
	[image: image24.png](4x— 6)(4x - 6)





	4)
	[image: image25.png](4x + 6)(4x + 6)







6
The expression [image: image26.png]16x% - 81



 is equivalent to

	1)
	[image: image27.png](8x—9)(8x+9)





	2)
	[image: image28.png](8x—9)(8x—9)





	3)
	[image: image29.png](4x—9)(4x+ 9)





	4)
	[image: image30.png](4x—9)(4x-9)







7
Which expression is equivalent to [image: image31.png]18x% - 50



?

	1)
	[image: image32.png]2(3x+5)°





	2)
	[image: image33.png]2(3x- 5)°





	3)
	[image: image34.png]2(3x - 5)(3x+ 5)





	4)
	[image: image35.png]2(3x - 25)(3x + 25)







8
Which expression is equivalent to [image: image36.png]36x% — 100



?

	1)
	[image: image37.png]4(3x - 5)(3x - 5)





	2)
	[image: image38.png]4(3x+ 5)(3x - 5)





	3)
	[image: image39.png]2(9x - 25)(9x - 25)





	4)
	[image: image40.png]2(9x + 25)(9x - 25)







9
The expression [image: image41.png]


 is equivalent to

	1)
	[image: image42.png](x* + 8)(x* - 8)





	2)
	[image: image43.png](x* - 8)(x* - 8)





	3)
	[image: image44.png](% +4)(x* - 4)





	4)
	[image: image45.png](x* -4z - 4)







10
The expression [image: image46.png]


 is equivalent to

	1)
	[image: image47.png](w? - 18)(w? - 18)





	2)
	[image: image48.png](w? + 18)(w? - 18)





	3)
	[image: image49.png](w? - 6)(w’ - £)





	4)
	[image: image50.png](w? + 6)(w’ — £)







11
When factored completely, the expression [image: image51.png]


 is equivalent to

	1)
	[image: image52.png]P+ D - 9)





	2)
	[image: image53.png]Ry )





	3)
	[image: image54.png]+
),
2+ Ny
-3





	4)
	[image: image55.png]@+ 3)p-3p+3p-73)







12
Which expression is equivalent to [image: image56.png]100



?

	1)
	[image: image57.png]o - 10)?





	2)
	[image: image58.png]o - sm)?





	3)
	[image: image59.png]07 + 10007 - 10)





	4)
	[image: image60.png]02 + 5007 - 50)







13
Which expression is equivalent to [image: image61.png]16x* - 64



?

	1)
	[image: image62.png]2_g)?
(4x°





	2)
	[image: image63.png](8x° - 32)°





	3)
	[image: image64.png](4x° + 8)(4x* - 8)





	4)
	[image: image65.png](8x° + 32)(8x° - 32)







14
Factor [image: image66.png]18x% - 2



 completely.

15
Factor [image: image67.png]36— 4x2



 completely.

16
Factor completely:  [image: image68.png]4x° — 49x





17
Factor  [image: image69.png]


 completely.

18
Factor the expression [image: image70.png]


 completely.

19
Factor the expression [image: image71.png]xt +6x2-7



 completely.


1
ANS:
3
REF:
081807ai

2
ANS:
3
REF:
081703ai

3
ANS:
1
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062301ai

4
ANS:
3
REF:
082203ai

5
ANS:
2

[image: image72.png]



REF:
011701ai

6
ANS:
3
REF:
081908ai

7
ANS:
3

[image: image73.png]2(3x - 5)(3x+ 5)




REF:
012006ai

8
ANS:
2

[image: image74.png]36x° - 100 = 4(9x° - 25)





REF:
081608ai

9
ANS:
3
REF:
061601ai

10
ANS:
4
REF:
061901ai

11
ANS:
3
REF:
011522ai

12
ANS:
3
REF:
011809ai

13
ANS:
3
REF:
061706ai

14
ANS:


[image: image75.png]18x% - 2= 2(9x% - 1

203x+ 1(3x- 1)




REF:
082331ai

15
ANS:


[image: image76.png]36— 4x° = 4(9-2°) = 4(3+ (3 - %)




REF:
012432ai

16
ANS:


[image: image77.png]x(2x+ T(2x-T)




REF:
012331ai

17
ANS:


[image: image78.png](x* +
4
N(x+ 2)(
(x-
-2




REF:
062128ai

18
ANS:


[image: image79.png]2 (x* - 36) = 2 (x + 6)(x - 6)




REF:
062231ai

19
ANS:


[image: image80.png]2ot -7
. 6x*
@
= ((z
Hix 1)(:)
1)




REF:
061431ai
